Maths Vocabulary Orienteering

Control Answer
Marker
3rd 4th
5 Multiply the 3" number by Number | Number
the 4" number.
ISt 2nd
10 What is the 15t number, minus | Number | Number
the 24 number?
2nd 3rd
1 What is the sum of the 2*d and | Number | Number
3" numbers?
2nd 4th
4 What is the product of the 27¢ | Number | Number
and 4" numbers?
ISt 4th
8 Divide the 4" number by the | Number | Number
1t number.
3rd 4th
7 Subtract the 3" number from | Number | Number
the 4 number.
2nd 3rd
5 Take away the 2°4 number Number | Number
from the 3*¢ number.
What is the difference . f:;e . fn ‘;e
3 between the 2"¢ and 3¢ e Lo
numbers?
lst
b
9 Share the 1t number between 3. Hurmber
° lst 2nd 3rd 4th
1 F:,?ldl:?e total Number | Number | Number Number
o our

numbers.




